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Mã đề: 001


I. THE MULTIPLE – CHOICE  PART (7.0 ms)
Choose the word whose underlined part is pronounced differently from the rest in each group.
1. A. sequence	B. express                C. success             	D. predict
2. A. province      	B. chimney             	C. sunshine	D. windy
Choose one word whose main stress pattern is different.
3. A. effect	B. sunshine	C. fossil	D. raindrop
4. A. expressive	B. violent	C. adventure	D. dishonest
Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST in the meaning to the underlined word(s) in each of the following questions.
5. What she said sounded convincing, but I suspect it to be a lie.
A. confusing 		B. embarrassing	C. touching 		D. reliable
[bookmark: _GoBack]6.  It is illegal to drive under the influence of alcohol.
A. permissible	B. authorized		C. unlawful		D. legal
Mark the letter A, B, C or D on your answer sheet to indicate the word(s) OPPOSITE in the meaning to the underlined word(s) in each of the following questions.
7. She is often brilliantly imaginative in filling out the details of the writer’s life.
A. uncreative		B. visionary		C. innovative		D. inventive
8. They were accused of being unrealistic in their demand.
A. impossible 	B. believable		C. improbable 	D. nonrealistic
Choose the best answer to complete each sentence
9. __________ often has characters with magical or supernatural powers.
A. Animation 		B. Fantasy film 		C. Comedy		D. Horror film
10. __________ includes cartoon characters, usually made with computers.
A. Horror film		B. Comedy			C. Fantasy film 	D. Animation 
11.She's never _______________________ with what she's got.
A. satisfied			B. believable			C. visible		D. acceptable
12. __________ fuels are non-renewable and rapidly running out.
A. Climate			B. Temperature		C. Fossil		D. Sea
13. Most people now accept that __________ warming could result in an environmental catastrophe.
A. ice				B. rain				C. global		D. climate
14.__________ change could have disastrous effects on Earth.	
A. Smoke			B. Ice				C. Rain		D. Climate
15.He's a brilliant student – he ___________________work hard to get good marks.
A. must 			B. need to			C. mustn’t 		D. doesn’t have to
16.Most asteroids are much __________________ than most comets.
    A. more bigger                    B. so bigger         	                C. bigger          	 D. as big 
    17. It was ________________ month (that) we had ever spent. 
    A. more unfortunate        B. the most unfortunate        C. the unfortunate      D. the more unfortunate    
18.Who gets up________________in your family?
A. the earliest           	B. the most early       	 C. the early           	D. the more earlier   
19.It’s not _________________to swim in the sea.
A. too warm			B. enough warm		C. warm enough 	D. so warm  
Mark the letter A, B, C or D on your answer sheet to indicate the best arrangement of utterances or sentences to make a meaningful exchange or text in each of the following questions from 20 to 21
20.	a. Tom: Sure, I'm free on Saturday.
b. Laura: Are you free this weekend?
c. Laura: Let’s go hiking then !
A. a-b-c			B. a-c-b			C. c-b-a		D. b-a-c
21. 	a. Zoe: I love watching soccer.
b. Ryan: Me too! Have you been to a live match?
c. Zoe: Yes, the atmosphere is electric.
d. Ryan: What’s your favorite sport to watch ?
A. d-b-c-a			B. b-c-a-d			C. d-a-b-c		D. b-c-d-a
Read the passage and then choose the best option to fill in each gap
Hail is a type of precipitation consisting of solid ice balls or lumps, which form within strong thunderstorm clouds. These storms often have intense updrafts that carry water droplets to extremely high altitudes, where temperatures are well below freezing. (22) ______ hailstones start as tiny ice pellets, gradually growing as additional layers of ice accumulate during repeated trips through the storm's updraft. Their size can vary significantly, ranging from small pellets to large, destructive balls of ice capable of causing (23) ___________ damage to crops, vehicles, and buildings.(24) ___________, not all thunderstorms (25) ____________ hail, as specific atmospheric conditions are required for its formation. Strong updrafts, sufficient moisture, and a certain temperature profile are all necessary ingredients. The hailstones' size depends on how many trips they make through the updraft, (26) ______ gives them more time to collect layers of ice. Once the hailstones become too heavy for the updraft to support, they fall to the ground, sometimes causing widespread damage depending on their size and density.
22.A. Few			B. Many		C. Much		D. Any
23. A. Minimal		B. Substantial	C. Average		D. Little
24.A. Moreover		B. Therefore		C. However		D. Meanwhile
25.A. keep​​  			B. produce​		C. drop​		D. develop
26.A. who​​			B. that​​			C. which		​D. where
Read the passage carefully and mark the letter A, B, C or D to indicate the correct answer to each of the following questions.
	Climate change poses major challenges to environmental stability, economic growth, and human development in the East Asia and Pacific region. The region is home to some of the most vulnerable countries in the world to climate-related extreme weather events, and impacts such as sea level rise pose an existential threat to many small island countries in the region. Without concerted action, between 3.3 million and 7.5 million people could fall into poverty by 2030.
	East Asia and the Pacific are also critical to global efforts to combat climate change. The region accounts for 39 percent of the world's greenhouse gas emissions and 60 percent of the world's coal consumption. The good news is that the region is uniquely placed to act. All countries in the region have made pledges as part of the Paris Agreement, and many of the largest economies of the region have recently made ambitious commitments to reduce emissions and achieve carbon neutrality.
	To face the existential climate crisis while still actively pursuing their development goals, countries in the region must tackle several urgent priorities: strengthening resilience to climate impacts; shifting rice cultivation methods to protect food security and reduce emissions; protecting forests and natural areas to act as carbon sinks and shield coastlines; transitioning to renewable energy from fossil fuels; and finding innovative ways to finance that shift, and to create markets for emissions.
	The World Bank has been a longstanding partner for the region on climate change—producing knowledge, collecting data, providing finance, and working together with governments for significant actions that reduce greenhouse gas emissions, improve climate resilience, and prepare for and respond to natural disasters. In East Asia and the Pacific, 39 percent of new World Bank commitments in fiscal year 2023 - $2.9 billion - contributed to climate action.
(Adapted from https://www.worldbank.org)
27. The main idea of this passage is that ____________.
A. the immediate causes of climate change in East Asia and Pacific Region are directly related to its development achievements.
B. East Asia and Pacific Region is struggling to combat climate change with the aid of the World Bank.
C. the consequences of climate change in East Asia and Pacific Region are far more serious than in other areas.
D. the World Bank is the biggest partner to assist East Asia and Pacific Region to prevent climate change.
28. According to the passage, in East Asia and Pacific, _______________.
A. the sea level rise is the most alarming in the world
B. the countries have not made formal commitments in the Paris Agreement
C. a number of island countries are in danger of disappearance as a result of sea level rise
D. people consume nearly half of the total amount of the world's coal
29. The word “vulnerable” in paragraph 1 refers to countries that are _______.
A. strong and powerful                                    B. unable to adapt
C. resistant to change                                       D. wealthy and developed
30. The word “threat” in paragraph 1 is OPPOSITE in meaning to _______.
A. concern                   B. danger  		C. issue                         D. safety
31. The word “critical” in paragraph 2 mostly means ___________.
A. potential                  B. alarming	C. disappointing          D. crucial
32. The word “their” in paragraph 3 refers to __________.
A. countries                 B. priorities	C. crisis                        D. goals
33. Which of the following is NOT TRUE according to the passage?
A. The East Asia and Pacific Region faces significant challenges from climate change.
B. The region accounts for 60 percent of the world's coal consumption.
C. Many people would be severely affected by climate change without collaborative
measures.
D. The World Bank has only provided finance for East Asia and Pacific to combat climate change.
Mark the letter A, B, C or D on your answer sheet to indicate the correct arrangement of the sentences to make a meaningful paragraph/ letter in each of the following questions.
34.	a. As they rested, a cat curled up next to them.  
b. Then, they decided to explore the local market together.  
c. At the market, they sampled delicious food and bought souvenirs.  
d. Tam and Anh spent the morning hiking in the hills near their town.  
e. Finally, with tired feet, they found a bench to relax.  
f. After their hike, they were eager for a new adventure.  
A. d-f-b-c-e-a  				B. b-d-f-c-e-a  
C. f-d-b-c-a-e  				D. d-f-b-e-c-a  
35.  	a. Best wishes.
b. Moreover, it's addictive and can distract us from more important things.
c. Firstly, it can harm mental health by making people feel lonely and anxious.
d. Finally, let's be mindful of how we use it to protect our well-being.
e. Dear Tam. I hope you're doing well. I'm writing to answer your question on the drawbacks of social media.
f. Secondly, it promotes shallow interactions over real connections. Social media can spread misleading information and create divides in society.
A. d-f-b-c-e-a  			B. e-d-f-c-b-a  
C. e-c-f-b-d-a  			D. d-f-b-e-c-a  
II. THE WRITING PART (2.0 ms)
Use the correct form of the words in brackets:
36. He felt increasingly _____________ with his life as he approached middle age. (SATISFIED)
37. Although fairly sunny, summers do feature occasional heavy,________ showers. (THUNDER)
38. His signature is totally _________________. (LEGIBLE)

Choose the correct word(s) for each of the blanks:
	honest       science fiction film     impolite      fantasy film        snowflake     embarrassing


39. A single __________________ landed on her nose.
40. _______________ is the film that belong to the fantasy genre with fantastic theme.
41. It’s ________________ to be caught telling a lie.
* Rewrite the following sentences without changing the meaning.
 42.His family were too poor to go on holiday.
His family were not______________________________________________________________.
43.Sharks are not as intelligent as dolphins.
Dolphins are____________________________________________________________________.
44.I have never met anyone who is more intelligent than Mr. Brown.
Mr. Brown is_____________________________________________________________.
45.It is important for us to  hand in the homework on time.(Rewrite the sentence,using modal verb)
We ___________________________________________________________________________.
                           
III> THE LISTENING  PART  (1m) 
Listen to the talk and fill in the blanks with correct words
My favourite film has to be The Matrix. Even though it was made back in (46) __________, it still feels really modern. It's about this ordinary man, Neo, played by Keanu Reeves, who works with computers during the day and is a (47) __________ at night. One day he is contacted by a woman who (48) __________ him to a very strange man: Morpheus. Morpheus explains to Neo that what he thinks of as real is actually (49) __________ and the world is run by evil machines who have imprisoned and tricked the human race. Laurence Fishburne is (50) __________ as Morpheus, and Keanu Reeves is excellent, but the best thing about the film is the special effects. I can watch it again and again.
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